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Answer the following as directed :
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Perfectly competitive firm can operate in
loses in the long run.

( Write True or False )
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Product d1ﬁ'erent1at10n is a feature of
monopolistic competition.

( Write True or False )
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Define 'prioe discrimination.
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Give one example of public good.
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At the point of long-run equlhbnum of a
perfectly competitive firm

(i) LMR=LMC

(ii). LMR = LAR =LMC

(i) LMR =LAR =LAC =LMC

(iv) LMR > LAR > LAC >LMC |
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( Choose the correct answer )
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If the market demand curve for a
commodity has a negative slope, then
the market structure must be
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perfect competition -
(ii) oiea =3
monopoly
(iii) e e 23
imperfect competition
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The market structure cannot be

determmed from the information
giyen
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( Choose the correct answer )
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Give one example = of
consumption externality.
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Which of the following is an example of
market failure?
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A growth of competition
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(i) ot &
A spread of pollution

(iii) TP Beotw I
A surplus of production in the short
term '

(iv) 177 B8 T
None of the above
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( Choose the correct answer )
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Write short notes on any four of the
following : '

(a) IR IR
Monopoly
b) & RS -
Price discrimination '
() “f efSafiroRpTE T WE T
Perfect competition and welfare
@ Pawm
Land market
(e) R IWR

Labour market
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....Discuss the equilibrium of perfectly

‘competitive firm under short run and long
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What is long-run industry supply curve?

Discuss the long-run industry supply curve
under different cost conditions.
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Explain the supply curve of a monopolist.

Compare and contrast between monopoly
and perfect competition.
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How can the oligopolistic traits of inter-
dependence and price stickiness be
addressed using game theory? Explain.

' (TurnOvér}



(6)

5. %ﬂpmﬁwmwwmﬁww
401 13

Evaluate the market mechanism with the
help of suitable diagram and example.

2]/ Or
o[ Rewreor e & o2 w1 Resor Rien
TIPTR SIS 7 | o 3+10=13

What do you mean by market failure?
Discuss different sources of market failure.
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Wha!: do you mea.n by input demand curve?
Derive labour demand curve in both perfectly
competitive and imperfect market structures.
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Derive the profit maximizing conditions in
input markets using suitable diagram.
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